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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

D C B A Questions / =iy 4

1\Y I I I et LBA-1,4) &5 | I

Point ( — 1, 4) lies in the quadrant :
uﬁu:" s i ol ab@&é?dlﬁ'ﬁiéj:aﬂ&ﬁ&;}b.g 2

. . Two tangents drawn to a gircle ), :((H& s
Triple Double Equal Half from a point outside jt.are of----'in length :
Fek 25 [A3 od i 4 s et e Y a7 bl | 3
Scale " Rate Value Place Mean is affect¢d by change in ---- :

2. ; Vil LS LI 100V 15 | 4
(ﬂld}( oo uﬁ{),{ S5 Py g3 “w nu'u))fj“;/)
None Perpendicular Nat 1 Parallel The (ol radius of el et

il a gircle at the point of contact are -—-—- :
e F;d/» F;&' &"".'. : ;‘:.t‘lkfyu.’.'x : y\:-'-‘fj 5
Proportion Consequent Antecedent Relation In"aratiox :y,y iscalled :
L (U Ll .:e:{}? | L (SR Ic‘:_ﬁkf{xleWAXSIOI} 6
Finite set Null set Subset Infinite,set The set {x|xeW Ax<101} is :

- . - - . -l Py 7
BN /":...l:i i P .-:_lt‘lk"/.PW_f//L‘JIKJ’_” J{.[./_/I:

An arc & ehati Radit® Diameter The distance of any point of the circle to
its centre is called :

) ¢ & b»lau.‘.'a:bzb:c../tfd’v L
B ¥z b= s In continued - q..t‘lkr -t

Extremes Fourth Third Means proportion @ : b = b : ¢ , ¢ is said to be
---- proportional togand b :
b’:._/’n-g‘-_m,,ubﬁo"gf //"JIJI;JI_J" 4. 9
4 3 2 | A 4 cm long chord L1y 1y
subtends a central angle of 60°. The
radial segment of this circle is :
e tnsi/AUB JunerS? 4 BoAS 10
BuUA _ ¢ B A If Aand B are disjoint sets, then AU B
is equal to :
&? P L:é’ ‘sl J"L/;’ J‘;’/ Roots © u’?‘_fué: 4x% —4x+1=0 = bl Il
Real, unequal Real, equal Irrational lmagmar)é ""]"of the equation 4x% —4x+1=0 are :
) 3 T e ™
Zi 24_ x2y? Zi . ::‘;..,.gfbfl(:.*b’y2 six? |12
x* x? x2 | The third proportional of x*" and 'y2 is :
S | baeddis B Lo M1/ | 1B
- S P Sy TS o ,A_gqflatlomg d a%i’@,;;: e g
Product Sum Histogram Constant dlfference'&“a'g vale-ofsiEvariable
froma :
1,—59,—(02 --l,ma),-ra;2 —l,m,—m2 - l,—cu,—a)2 Cube roots of — 1 are : :u!..—:du:‘g":— 1|1
1 1 15
cos@ 2 2 2 + =——-
2cos“ @ sec” @ 2sec” @ ‘sond = 1—snb

273-022-1-(Objective Type)- 28875 (7197




(20202022 ¢ 2018-2020 £ ) (S piiat) s

MATHEMATICS (SCIENCE) adD N
Paper : II (Essay Type) (U) =022 Gl s I @ 24
Time Allowed : 2.10 hours (o) ) £210 : o5
Maximum Marks : 60 UR-& /- 13- 60 : AS

(PART -1 Jsl»)

12 2. Write short answers to any SIX (6) questions : . o VAT 4 /f’ L ety (6){;.(3f 2

(i) Write the quadratic equation in standard form : A 0] ;Luf alslrGoass (D
x+NDEx-3)==7

(i) Solve the equation by quadratic formula c2-xt=Tx S ety Sl ablaGass (D)

(ii1) Define quadratic equation. B PSSy (i)

(iv) Write the quadratic equation from given roots : 0 ,—3 IR ui;.-: Gv)

(v) Evaluate : (1-o-w*) Eebad )
(vi) Find o? if o=- : +2\C§ o= ___%\L_—_‘_J, /lﬁ'r:l” w? (i)

-é’(rl" xiy SPIn3(4x-5y)=2x-"Ty A (id)
(vii) If 3(4x-5y)=2x-7y .find theratio x:y

(viil) Find a mean proportional between : 20, 45 A bk (viid)
(ix) Define ratio. _é...é_f /"" e’ (x)
12 3. Write short answers to any SIX (6)questions : : 4 N AL iy (6){::.(3/ 3
(1) Define proper fraction and give/one example. Szt S8 ()
(i1) Resolve into partial fractions” : 21 ey J’b, S8z (i)

x“ -1

b YUX InY=(24,59) # X={1479) /1 GiD
(iii) If X ={L,470%ands Y ={2,4,5,9}, then find Y U X

-é(:L*’AxB?B={—1,3}cA={0,2,4}f| (iv)
(iv) £.AE{0,2,4},B={ -1,3}thenfind AxB.

(v)“ Define an One-one function. -E‘fi:bfq 7 SFCE U (V)
(vi) Write all the subsetsof {a, b } -éq&frﬁﬁ{ a,b}er (vi)
(vii) Define geometric mean. ey Shosis £ (vii)

12, 14, 17,20, 24,29, 35,45 &5 bondlotir Ly (viid)
(vii) Find arithmetic mean for the set of data : 12, 14, 17, 20, 24, 29, 35, 45

(ix) Find the range of the data : 11500, 12400, 15000, 14500, 14800 oy (%)
12 4. Write short answers to any SIX (6) questions : s ol e AR /z' L ey (6){5(3:( 4

(1) Convert 37’7 into degrees. LSS /S ,»f 2 @
(ii) Find 0, when £=2cmandr =3.5cm r=3.5cm s {=2cm .ﬁé(}"‘ 6 G
(iii) Prove that : (1-sin®6) (1+tan®9) =1 e (i)

?;ﬂi.ﬂu‘b‘ggypﬂug:lﬂit}ﬁ’» (iv)
(iv) How many minutes are there in two right angles?

(&1dss)




@)

4. (v) Define acute angle. MQ.(' (-23 S /:"L,( Sl (V) " 4
(vi) Define secant. -&{_y /? St (vi)
(vii) Define circumference of a circle. S L sy (Vi)
(viii) Divide an arc of any length into ..?_f(:‘p SoUr® S99 T ; ...{IJJUL;’( (viii)
two equal parts. = o
(ix) Define inscribed circle. : -’c_“:' .y Sosss (i)

( PART -II f'n.«ﬁ? )

Note : Attempt THREE questions in all. -«$H9 /Jlru‘? & .‘.:.U:‘!L:.fﬂircf J/ 0%
But question No.9 is Compulsory.
4 5. (a) Solve the equation : J3x+100-x=4 . &S fw'lsl/b.u %) .5
a’+ p? ép’”..‘i?urujué X+ pr+q=0 =ble [3 dou /I (<)

(b) If o, B are the roots of the equation x>+ px + ¢ =0 , then évaluate &’ + f°

4 am= VB St g PR PP gy Sl (D) 6

T n+p m-5n m-=S5p

6. (a) Using the theorem of componendo~dividendo, findithe value of
m+5n n m+5p i m= 10np

m-5n m-5p’ n+p
4 (b) Resolve into partial fractions, : —~—+——-— JJ’I’, Sz (L)
b Gl RIEE g b e B B Nl ¥ 1) (x+1) -
4 - B=12,3,57)A=il3IN79}.U={1,2,3,4,5,6,78,9, 10}/: ) .7

(AUBY = A NB JEE=t )

7. (a) 1fU—{1234S678910} A={1,3,5.7,9}and B={2,3,5,7}
then prove that (AU B) =A4'NB’

4. . :é(!h’_jl/;fdjkvﬂléwbﬂlJffﬁdJﬁ (<)
(b) _Find the mean length and standard deviation :
[ength
J Ju 20-22 | 23-25 | 26-28 | 29-31 | 32-34
Frequency
o 3 6 12 9 2
4 8. (a) Prove that : 1+an9—lws¥n9=4tan€scc9 st (D) .8
1-sin@ 1+sinf )
4 A3 6 AN CA o BC < AB LW £t in e ¥AABC [

(b) Circumscribe a circle about a triangle ABC with sides :

|AB|=6cm , |BC|=3cm , |CA|=4cm

8 -g‘:.t'f-i;“’“(fbfg}'so’(;.}"/L;fl:f’cf’-::.at‘ 9
9. ' Prove that perpendicular from the centre of a circle on a chord bisects it.
OR

..LL"J’L‘GJC.—&.—JUJ!"L /fu’:’ W@igﬁxlﬁ’dsbdffﬁhd.c..a/"d)’ u":_.fbgf(fc’:u..-t‘
Prove that the measure of a central angle of a minor arc of a circle, is double
that of the angle subtended by the corresponding major arc.
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